Genmitsu

PROVerXL 4030V 1 Flexi-Pack
User Guide

PROVerXL 4030V 1 Flexi-Pack
Benutzerhandbuch

PROVerXL 4030V1 Flexi-Pack
1-H—HAF

V1. July. 2024

Genmitsu

If you need any assistance, please contact us via:
Email: support@sainsmart.com
n Facebook messenger: https://m.me/SainSmart

Help and support is also available from our Facebook Group

OF =P |
T
o

Vastmind LLC, 2330 Paseo Del Prado, C303, Las Vegas, NV 89102

Welcome

Thank you for purchasing the Genmitsu PROVerXL 4030 V1
Flexi-Pack (XY-Axis Module Connection Sheet Metal and
Z-Axis Module without Spindle) from SainSmart.

Please review the following parts list to determine if there are
any missing parts. For a detailed installation guide, please
refer to the instruction manual included in the extension kit,
or if you have not purchased the extension kit for Genmitsu
PROVerXL 4030V1, please scan the QR code below to get
the electronic version of the manual.

Scan To Find

PROVerXL 4030V1
Extension Kit Guide

For technical support, please email us at

support@sainsmart.com.

Help and support is also available from our Facebook group.
(SainSmart Genmitsu CNC Users Group)

Package List

0 —
T 3
0 -
s

3
-

Front Leg (Left)

Front Leg (Right)

Rear Leg (Left)

X-Axis Drag Chain X-Axis Drag Chain Y-Axis Drag Chain

(9) M4*6 hex socket

(10) M5*6 Socket

(30) M5*20 Socket

With 18, 24,25 and With 18, 24,25 and With 18, 24,25 and Bracket 1 Bracket 2 Bracket 1 flat head cap screws Head Cap Screws Head Cap Screws
21,24,25 21,24,25 21,24,25 With 18, 24,25 With 22 With 16, 26 For drag chain fixing
o q 0 ® ] ® 22] ® 2 -
< O M= .
& e | = ~' (
I . | i ‘L,!{ t 3
Rear Leg (Right) (3) Motor Seat (3) Coupler Y-Axis Drag Chain X-Axis Limit Switch Z-Axis Module (3) M4*8 Socket (9) 5.5*10*1 (40) 5.5*12*1
With 18, 24,25 and Bracket 2 Sheet Metal With 17 Head Cap Screws Flat gasket Flat gasket
21,24,25 With 16 With 16

(4) Limit Switch

® @ ®
””(ut‘ﬂ‘ ‘{

®

D

7

(2) Gantry (2) Gantry Side Panels (7) M5*8 Socket (3) M5*10 hex socket | (38) M5*14 Socket (55) M5 spring shims (12) M5 T-nut Allen Wrench
Sheet Metal Support Metal With 18, 24,25 and Head Cap Screws flat head cap screws Head Cap Screws (2mm, 2.5mm,
With 20, 26 With 18 21,23,25 3mm, 4mm)

B

B

04

Vielen Dank, dass Sie sich fiir das Genmitsu PROVerXL
4030 V1 Flexi-Pack (XY-Achsmodul Anschluss Blech und

Z-Achsmodul ohne Spindel) von SainSmart entschieden haben.

Bitte priifen Sie die folgende Teileliste, um festzustellen, ob
irgendwelche Teile fehlen. Eine ausflhrliche
Installationsanleitung finden Sie in der Bedienungsanleitung,
die dem Erweiterungssatz beiliegt. Wenn Sie den
Erweiterungssatz fir Genmitsu PROVerXL 4030V 1 nicht
gekauft haben, scannen Sie bitte den QR-Code unten, um die
elektronische Version der Anleitung zu erhalten.

Scannen zum Finden

PROVerXL 4030V1
Leitfaden fuir Erweiterungssatze

Fur technische Unterstlitzung senden Sie uns bitte eine
E-Mail an support@sainsmart.com.

Hilfe und Unterstiitzung finden Sie auch in unserer
Facebook-Gruppe. (SainSmart Genmitsu CNC Users Group)

o5

Liste der Pakete

Vorderes Bein (links)
Mit 18, 24, 25 und

Vorderes Bein (rechts)
Mit 18, 24, 25 und

Hinteres Bein (links)
Mit 18, 24, 25 und

Mit 18, 24, 25 und
21,24,25

21,24, 25 21,24, 25 21,24,25
o — |[o o)
= 0O (Nar e
e ﬁ;‘f \ '
Hinteres Bein (rechts) (3) Motorsitz (3) Kuppler

(4) Endschalter Blech
With 20, 26

(2) Gantry-Trager
Metall
With 18

(2) Gantry-Seitenteile

Mit 18, 24, 25 und
21,23,25

X-Achse X-Achse Y-Achse

Schleppkettenhalterung 1 | Schleppkettenhalterung 2 | Schleppkettenhalterung 1

Mit 18, 24, 25 Mit 22 Mit 16, 26

o)

(9) M4*6 Innensechskant

-Flachkopfschrauben

Fir Schleppkettenbefestigung

20. (10) M5*6
Zylinderschrauben | Zylinderschrauben
mit Innensechskant | mit Innensechskant

21. (30) M5*20

L’ el

Y-Achse Z-Achse Modul

Endschalter
Schleppkettenhalterung 2 X-Achse Blech Mit 17
Mit 16 Mit 16

@

(3) M4*8
Zylinderschrauben
mit Innensechskant

®

(9) 5,5*10*1
Flachdichtung

(40) 5,5*12*1
Flachdichtung

e |0 ©

(7) M5*8
Zylinderschrauben
mit Innensechskant

(3) M5*10
Innensechskant
-Flachkopfschrauben

(38) M5*14
Zylinderschrauben
mit Innensechskant

®

(55) M5-
Federunterlegscheiben

D

(12) M5 T-Mutter

7

Inbusschlissel
(2mm, 2,5mm,
3mm, 4mm)

o7

T D&, Genmitsu PROVerXL 4030 V1 Flexi-Pack
(XYERED 21 —)LEFRE. ZBHEY 21— IVE#HEL)ES
B EWFWE RICBYDESTTVET,
LIFDN—Y ) A bERTEITEY. RELTWB/N=YH
FUODTHEERC T2 E LY, FTzld. Genmitsu PROVerXL
403OVIAERF Y b ZBATNTLEWEEIE. LT
QR*II— REZAF ¥V LTEFROIZ27IVEAFLTL
TELN,

AF vV LTHY
PROVerXL 4030V1
ERFY bHA R

T ZHIVHR— MTDOWT I, support@sainsmart.com
FCEFA—IVTEEWEDE L EEL,

NIV T & R— ~idFacebook 7 )L—TH 5% SHIBW T
FEd, (A VA= FKACNCI—F—J)L—7)

®

ip P L] —
B () [ ES)) ®H (5 X RSy o F RSy IF WESYIF O)M4*6 ATt | (10M5%6 Y4y b | (30)M5*20 V4 b
£18. 24, 25. £18. 24, 25. L18. 24, 25. I—YI37y k| I=YTST v b2 | VTS v R EMAIL S 2 S 2
21, 24, 25 21, 24, 25 21, 24. 25 £18, 24, 25 en £16 RSy oF 1 —VEER ATYa— ATYa—
ﬂ =5 (= | | '
= 2 \ i Ty = | il -
. = . —y | UL -
W (B E—g—v—t B HT5— BMESYIF TRV ZHMEI 1 BYMA8 Yy b (9) 55101 (40) 5.5%12%1
£18. 24, 25. I—2I55Y 2 | v F =t XA 17 Ry FEvw 7 75k 75k
21, 24. 25 L16 L16 A7 V)a1— ARy b ARy b
(7] ﬂ% 0 0 [ ® @ ® 22] 2] 27
] _ e
. / ( A
L . ‘ (.
o[ -0 .. N\
[, L
@USYPRAvF | @QAVIU— QHY Y- NIMS*8 V4w k| BYMS*10 A& | B8)M5*14 Y4y b s (12)M5THy k AELYF
=k XR cHR—b e XRL YA RNV Ay RFEpy S FMARIL b Ay REvy S ATV T2 (2mm. 2.5mm.
£20, 26 &18 £18, 24, 25, A7Va— A7 a— 3mm, 4mm)

21, 23, 25

2]




